- . 4 digits x 2 digits
Milions  Thousands 9! e | |
Year 6 . 4 digits + 2 digits and interpret remainders as whole number remainders,
o § - fractions, or by rounding, as appropriate for the context
L 3 2 w 12 . perform mental calculations, including with mixed operations and large
b = @ 3 8 8. k= numbers
N@]m er g % 0 = é 5 § w D § . solve addition and subtraction multi-step problems in contexts, deciding
s 2 5 & = § S ..-g é = which operations and methods to use and why
= = B> é L= = L 1ZE & . solve problems involving addition, subtraction, multiplication and division
. use estimation to check answers to calculations and determine, in the
I | | | context of a problem, an appropriate degree of accuracy
Number Rounded to |Nearest Nearest Nearest Ten | Nearest Nearest Ordering Mathematical Operations
Nearest Ten |Hundred Thousand | Thousand Hundred Million
Thousand B O DM A S
9658485 5658490 [5658500 [5658000 [5660000 |5700000 | 6000000 Brackets | Oders | Division |Wultplication] Adcltion | Subtracton
(o) |Vx x2| = X + -
City Vancouver London New York Madrid Delhi Meoscow Mu|tip|yinq and Dividinq bv 10' 1m and 10m
Temperature 7°C 4°C 2°C 16 °C 26°C -13°C 2.212x3
click next for another question 10000 1000 | 100 | 10 1 1 1 1 (Tens |  Ones o Tenths | Hundredths | Thousandths
10 100 | 1000 .. O@ (i @@
What is the difference in temperature between
London and Vancouver ? o0 OO @ QIC)
7°C + 4°C = 11°C OO OO (6 ©O
T~ T~ Multiplying Dividing
-7°C 0°C 4°C X10 digits move LEFT 1 space £10 digits move RIGHT 1 space
X100 digits move LEFT 2 spaces +100 digits move RIGHT 2 spaces
Multiolvi Fracti X 1000 digits move LEFT 3 spaces + 1000 digits move RIGHT 3 spaces
ultiplying Fractions
E a 1/8 is half of a £ so what is half of 0.25 (think 25) = 0.125
5/8 =1 +1/8,5005 + 0.125 = 0.625
8 4 8 2 8 4 8
1 , 3 | | | | | | | | | | 7/8=3%+1/8,500.75 + 0125 = 0.875
=\ Sombine = | | | | I I | I |
3 N x 3 0 0125 025 0375 05 0625 075 0875 1
N A\ —xZ = S _1
Overlapping | i 375 1 35
area "\ 7 Common Multiples - allowing us to compare and order.
- 131 of3 fifths = 1 fifth . i 5 3
5 3 f ’ N ’ 2 f p
Three quarters divided by five: 28 ‘ 12 ‘ 15 8 27
Original Fraction Not yet! Simplest form 36 ETS 36 35 36
8 4 2 5
12 5 3 6reatest Common Factor A 29 n >
12 | S a4 T2

Common Factors

A common factor is a factor
of 2 or more numbers.

e.g. 3 is a common factor of 6 and 15.

Factors of 6

Factors of 15

82
2 ., 8

Common Multiples

A common multiple is a multiple
of 2 or more numbers.

e.g. 10 is a common multiple of 2 and 5.

Multiples of 2

12

A natural number greater than 1 with no
divisors other than 1 and itself.

Prime Numbers

Remember these facts about Prime Numbers!

AR NN EEEE

There are no prime numbers ending in 5, except 5.
The digits can’t add up to 3 except 3 (digital root).

[T T TS

There are no even numbers except 2.




RATIO

12cm rd 2x3=6
m _ : — i | For every 5 blue, there are 3 orange and 11 green. 2n 3% term
9
& D = 5 . 3 . 1 1 Ratio PROPORTION N _
3cm x3 * * 5in every 19 are blue. 3n+1 47 ferm  3x4+1=13
5 3 1 ]_ 3in every 19 are orange. -
6cm| A 18 em B 24 cm c — i Fraction ) 2n -1 6™ term 2x6-1=11
— 1 9 1 9 1 9 11 in every 19 are green.
4n+3 7" term 4x7+3=31
Ratio and Proportion 35% of 360 = ?
Scale factor of 3 360 Bn - 4 8™ term  5x8-4=36
Area of B =9 cm x 18cm = 162 cm? 40% of ? = 221 |:|
Scale factor of 4 5 7n+8 9™ term 7x9+8=71
Area of C = 24cm x 12cm =288 cm? ) 360
55.25 | 55.25 | 55.25 | 55.25 | 55.25 | 55.25 | 55.25 | 55.25 | 55.25 | 55.25
% of 40% = 10% 2n-17 4™ term_ 2x4-17=-11
360
221+4=55.25 36 |36(36[36|36|36|36 Clue 1 * - 15 = 45
10% = 55.25 i Algebra
= || Clue2 Y x A = 120
100% = 55.25x 10 = 552.5 % 0f 10% = 5% so 36 +2 = 18
35% of 360 = 108 + 18 = 126 - =
Some shapes can have the same area... - * =4
5 .
= - - F l — -157=45+ 15
i) | <_S.miles. o "
§ 10cm il *] ‘iﬁ{ = 60
_w T =7 7 w0 y=x+2
3
Yo < A =120
Length = Width = Area Length = Width = Area
S5cm * 4cm = 20cm? 10em x 2em = 20cm? Y =2x= 60 A 120
o =
and have a different perimeter...
Son Measurement 210-170 =40 y =3+ 3x /\ =120 = 60
10
§ = . 2 =x+8 A= x
Measurement Conversion Chart

10cm + 10cm + 2cm + 2cm =
2 (10cm + 2cm) = 24em

S5cm + 5¢cm + 4cm + 4cm =
2 (5cm + 4cm) = 18cm

and vice versa.
5cm

wog

8cm

Area Area
Length = Width = Area Length x Width = Area
5ecm x 5em = 25¢m? 8cm * 2cm = 16cm?
Perimeter Perimeter
2 (5cm + 5cm) = 20cm 2 (8cm + 2cm) = 20cm

Length

Millimetres (mm)

Centimetres (cm) Metres (m)

Kilometres (km)

When you are asked to list all the possible combinations
of two variables, it is important to work systematically so
you know you have found all the possibilities.

Mass

Capacity

Kilograms (kg)

Millilitres (ml)

List all the possible values of a
and b, where a and b are < 9.

0+14 =14 5+9=14
1+13=14 6+8=14
2+12=14 7 +7 =14
3+11=14 8+6=14
4+ 10 = 14 9+5=14




Measurement cont. Angles on a straight line always add up to 180° Tr' an S I a.l. i o n a n d r| ef I e C.|, l' o n
triangle parallelogram 117°,/ 2 \”’T y SN 7 SR
; 180° - 117° = 63° 180° - 142° = 38° o A T T A [ [ 1°] A
i .h The missing angle is 63°, The missing angle is 38°. - \ /- .:_ | [
H Missing Vertically Opposite Angles e | L il | g I/ ) .
b % Opposite angles are equal. ’ . SHAEE ‘J/’- H
1 * MEEPEER REEPEN N
A=—bh 5 D-L3 3
2 A=>bh 123° . 21
? 50° 3 BEEEEREM
? 2 r EEEEEE
. uares right 2
Volume of Cuboid 1 T "
The missing angle is 50°. The missing angle is 123°. 123456789 10. X Sy
Angles around a point total 360°
, , ., Geometry
/ 123 ¥ Y-axis A
50° | 44+
w ? Steps to Draw an Angle B
Draw a line {': 3T
V — Zw h The two known opposite angles total 100°. The two known opposite angles total 246°. 24
360° - 100° = 260° 360° - 246° = 114°
260° + 2 = 130° 114" + 2 = 57° 1+ :
The missing angle is 130°. The missing angle is 57°. X-axis
+———— —t——»
4 -3 210 1 2 3 4
=1+
.
=T £
Statistics al |
Working with Pie Charts - Y i
pie chart line graph ‘ameter
[Transport | Frequency | Working - - -
404 Car 6 % x 360" =120° Mean ‘ A= (4!5) B= ('4,4) C= ('1,3)
35 Bus 4 44s X 360° = 80*
Zg Ez;': ,,,,,,,,,,, : ,,,,,,, t’;%“_g The mean is the average or norm. D=(1,-2) E=(3,-3) F=(2-4)
201 circumference
154 Add up all of the values to find a total.
104
5] Divide the total by the number of Parallelogram
bar chart S S A A g values you added together.
801 pictogram ->7) (6,7)
70 2+2+5+6+7+8=30
" 3046=5 / /
40 A EEEN
204 B T T The mean number is (-7,3) (4, 3)
201 C [ |
N D |mmmi 5
a b c




